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1) Initialisation E
2) Jeu N° case A
Seule la case 5 doit étre vide (=zéro)
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00 02 05 04 RTN
00 00 01 O3 RTN
00 02 05 06 RTN
00000107 RTN
02 04 06 08 RTN
00 00 03 09 RTN
00 04 05 08 RTN
00 00 07 09 RTN
00 05 06 08 RTN
LBL B FIX 08 09 STO 00 00 STO 10 |
LBL YX 01 00 INV PRD 10 RC* 00 SUM 10 DSZ 00 YX

LBL X2 C'RCL 10 R/S |

I
] #E JEU it |
LBL A INT STO 00 01 SUM 13 01 X/T RCL 00 INV GE X2 |
01 00 X/T RCL 00 GE X2 |
STO 10 00 X/T SBR 1/X 05 PRD 00 05 INV SUM 00 SBR IND 00 STO 00
LBL TAN 01 00 INV PRD 00 RCL 00 STO 10 INT STO 00 RCL 10 INV INT *01 00 = |
STO 10EQ B |
SBR 1/X GTO TAN |
LBL 1/X RC* 10 INV EQ IXI |
01. |
LBL IXI 00 ST* 10 RTN |

I
It INITIALISATION #it |
LBL E CMS 09 09 OP 43 01 OP 43 OP 59 00 D' 09 OP 41 OP 51 * 01 00 + 01 = INT |
LNX INV INT STO 11 09 STO 00 00 X/T |
LBL SIN 01 00 PRD 11 RCL 11 INT INV SUM 11 STO 10 EQ COS |
01 ST* 10 |
LBL COS DSZ 00 SIN |
B I
LBL WRT OP 00 04 07 02 00 02 00 02 00 OP 02 04 07 02 00 02 00 02 00 04 07 OP |
03 02 00 02 00 02 00 04 07 00 00 OP 04 OP 05 RTN |
LBL C' SBR WRT CLR 06 02 00 00 00 00 + ( RCL 07 + 01 ) =* 01 00 00 = OP 02 |
CLR 06 02 00 00 00 00 + ( RCL 08 + 01 ) = * 01 00 00 00 00 = + 06 02 = OP 03 |
CLR (RCL 09 + 01) * 06 INV LOG = + 06 02 00 00 = OP 04 OP 05 SBR WRT CLR 06|
02 00 00 00 00 + ( RCL 04 |
+01)=*01 0000 =OP 02 CLR 06 02 00 00 00 00 + ( RCL 05 + 01 ) = * 01 00|
00 00 00 = + 06 02 = OP 03 CLR ( RCL 06 + 01) * 06 INV LOG = + 06 02 00 00 =|
OP 04 OP 05 SBR WRT CLR 06 02 00 00 00 00 + ( RCL 01 + 01 ) = * 01 00 00 = OP|
02 CLR 06 02 00 00 00 00
+(RCL 02+ 01)=*0100000000=+0602=0P03CLR(RCLO03+01)*|
06 INV LOG = + 06 02 00 00 = OP 04 OP 05 SBR WRT ADV 01 .01 01 01 00 01 01 |
01 01 X/T RCL 10 EQ NOP |
RTN |
LBL D' OP 00 01 05 01 03 03 06 01 07 00 00 OP 03 04 02 02 04 01 06 01 07 00 |
00 OP 04 OP 05 OP 55 PAU PAU RTN |

I
] #E GAGNE #HHH
LBL NOP INV FIX 00 OP 43 01 04 OP 69 01 05 03 02 04
13 OP 06 ADV OP 00 OP 42 01 04 03 05 01 03 04 02 03
05 RTN |

I
1 03 03 03 06 OP 04 RCL |
2

010
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| LABELS | |Adr| Branch. | |Reg | Instr |

R e e R e e e SR
04612B | |1/X | 101 71 SBR| | OO | 050 42 STO |
05645YX | |1/X|14171SBR| | |062 73 RC*|
07033X2 | |A |58711A | | |07842STO|
076 11 A | |B [13967EQ| | |08543RCL |
116 30 TAN | |B |22012B | | |093 43 RCL |
146351/X | |C |07118C'| | |10449PRD |
15550 IXI | |COS|21067EQ| | |108 44 SUM |
16115E | |D' |17319D'| | |11342STO|
197 38SIN | |IXI|15067EQ| | |12049PRD |
21639 COS | |NOP|50267EQ| | |12243 RCL |
22296 WRT | |SIN|21797DSZ| | |12742STO|
26318C' | |TAN|14361GTO| | |19242 STO |
50619 D' | |WRT|26471SBR| +----t+-----m-m----
541 68 NOP | |WRT|33871SBR| |01]423 43 RCL |

e + |WRT|412 71 SBR| +----t-----m-m----

WRT | 486 71 SBR| | 02| 445 43 RCL |
X2 | 088 77 GE |  H---rrtmmeemmmemmes

X2 | 095 77 GE | |03|46643RCL|
YX | e R VA D4 [ e —

o e + |04|34943RCL|

10 | 053 42 STO |
060 49 PRD |
064 44 SUM |
072 43 RCL |
097 42 STO |
124 42 STO |
129 43 RCL |
137 42 STO |
147 73 RC* |
157 72 ST* |
208 42 STO |
213 72 ST* |
500 43 RCL |

11 | 189 42 STO |
200 49 PRD |
202 43 RCL |
206 44 SUM |

13 | 081 44 SUM |
| 563 43 RCL|
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